
€ 

f =
1
T

€ 

v =
2πr
T€ 

ω =
2π
T

= 2πf

€ 

x = r cosθ
y = r sinθ

€ 

αavg =
Δω

Δt

€ 

θ f =θi +ωiΔt + 1
2α(Δt)

2

€ 

ω f =ωi +α(Δt)

€ 

ω f
2 =ωi

2 + 2αΔθ

€ 

a = ar
2 + at

2

€ 

F1 on  2 = F2  on  1 =
Gm1m2

r 2

€ 

fs  max = µsn

€ 

fk = µkn

€ 

fr = µrn

General Physics -  Physics 101       Prof. Bob Ekey 
Test #2 – Friday 10/16/20 
Angular Displacement 

    
Arc Length 
     
 
Average Angular Speed  Instantaneous Angular Speed 

            
 
Angular speed in terms      Period/Frequency  Average Angular Acceleration 
of Period and Frequency       

            
 
Tangential speed  Tangential speed for uniform circular motion 

                         
 
Angular Kinematic Equations   

   
 

Centripetal (radial) Acceleration  Total Acceleration for circular motion 

    

Newton’s 2nd Law: Weight/Force of gravity         

 
 

Net force   

 
 

 Δθ = θ − θo

€ 

s = rΔθ = rθ  (typically  θo = 0)

€ 

ωavg =
Δθ
Δt

€ 

ω = lim
Δt→0

Δθ
Δt

=
dθ
dt

€ 

vt = rω   at = rα

  
ac =

v2

r
=

(rω )2

r
= rω 2

  

€ 

 a =
 
F net

m
     
 
F net = m ⋅

 a 

  

€ 

 
F net =

 
F i∑ =
 
F 1 +
 
F 2 +

 
F 3 +

 
F 4 ...

  

€ 

 
F net,x =

 
F i,x∑   and     

 
F net ,y =

 
F i,y∑

magnitude of tangential 
acceleration 

+y 
 

+x 
 

q 
r 

€ 

Fg = mg

G = 6.67 x 10-11 Nm2 / kg2 

Static Friction 

Kinetic Friction 

Rolling 

Newton III law pair 

  

€ 

 
F A  on  B = −

 
F B  on  A

Gravitational Attraction 


